Math Numbers Operations and Algebra 1_7

Student Name:

Jim has 12 cards.

Sam has 15 cards.

Who has the most?

A. Bob
B. Jim
C. Sam

Bob has 9 apples.

He gives 3 to Jane.

How many apples does Bob have now?

A. 10
B. 6
C. 4

Date:

2.

18-2=[]

A. 15

B. 10

C. 16

4,
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Start at 6. Count up 7.
Where are you now?

A. 13

B. 9

C. 12



3 friends eat a whole pizza.
Each friend eats 2 pieces.

How many pieces of pizza in all?

13-5=[_]

A magician starts with 4 doves.
He makes 2 doves disappear.

How many doves does he have left?

What number is missing?

115
+ 223
330
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13.

6+12=12+

A. 18
B. 12
C.6

15.

Acircus has 16 elephants.
There are 9 elephants with tusks.

How many elephants do not have
tusks?

B.7
C.6
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14.
6 friends eat a whole pizza.
Each friend eats 2 pieces.
How many pieces of pizza in all?
A. 8
B. 12
C. 10
16.
4+3[ |3+4
A. =
B. >
C. <




